EXAM FM QUESTIONS OF THE WEEK

S. Broverman, 2006

Week of March 6/06

An investment fund guarantees that the value of the fund never decreases as time goes on.

At the start of ayear, 100 isinvested into the fund. Halfway through the year, and additional 10
is deposited into the fund. The value of the fund at the end of the year is 120. Find the maximum
and minimum time-weighted yields that could be reported for this investment for the year.

The solution can be found below.



Week of March 6/06 - Solution

The balance at time O is 100, the balance at time % before the deposit is A,
the balance at time £ just after the depositis A + 10, and
the balance at time 1 is 120. The time weighted return isi, where

L+i= % ' A1—12-(1)0 = (1'2)(Af10) :
Since the fund value never decreases, we know that 100 < Aand A + 10 < 120,
sothat 100 < A <110.

The minimum time-weighted yield will occur where ﬁ isaminimum, and the maximum

time-weighted yield will occur where ﬁ isamaximum. The derivative with respect to A of
A

T IS (Aﬂo)z ,whichis > 0 for 100 < A < 110 . Therefore, the minimum time-weighted

yield occursif A = 100, and thisminimum yieldis (1.2)(%) — 1 = .0909,

and the maximum time-weighted yield occursif A = 110, and thismaximum yield is

(1.2)(155) — 1 =.1000.




